$PROB SAEM
$INPUT ID  TIME DV EVID DESIGN AMT WT 

$DATA DATA_sim.csv IGNORE = @ 

 ;------------------Parameters--------------------

$SUB ADVAN2 TRANS2

$PK

MU_1 = THETA(1)

MU_2 = THETA(2)+ THETA(4)*LOG(WT/70)

MU_3 = THETA(3)

ka = EXP(MU_1 + ETA(1))

V = EXP(MU_2 + ETA(2))

CL  = EXP(MU_3 + ETA(3))

S2 = V

$ERROR

IPRED = F

W = THETA(5)+IPRED*THETA(6)

Y = IPRED + W*ERR(1)

IRES=DV-IPRED

IWRES=IRES/W

$THETA 

2.48

;1 ~log(ka)
-1.39    
;2 ~log(V)
-0.51    
;3 ~log(CL)
0 FIX

;4 ~beta_V
;1      
;4 ~beta_V   if beta estimated  
0.18 

;5 ~SIG_inter

0.36 

;6 ~SIG_slope

$OMEGA

0.36  ;1 ~IIV_ka

0.36  ;2 ~IIV_V

0.36  ;3 ~IIV_CL

$SIGMA 

1 FIX ;  ~ERR

;SAEM followed by  IMP for likelihood computation :

$EST METHOD=SAEM INTERACTION NBURN=15000 ISAMPLE=3 NITER=5000 SIGL=8 CTYPE=3 PRINT=5 CINTERVAL=100

$EST METHOD=IMP INTERACTION NITER=10 ISAMPLE=3000 SIGL=9 EONLY = 1 MAPITER = 0

$COV

$TABLE ID DESIGN ka CL V ETA1 ETA2 ETA3 WT

NOAPPEND FIRSTONLY NOPRINT ONEHEADER

FILE=IDsH0SAEM

$TABLE ID TIME DV EVID DESIGN IPRED Y RES WRES IWRES  

NOPRINT NOAPPEND ONEHEADER

FILE=DVsH0SAEM
